estion 13 One of the main disadvantages of the corporate form is the

Nat yet
answered | O a. professional management
']A;kedwd ' ® b. Government regulations 9
| O c. Charter ¢
¥ Hag <
stion i O d. corporation must issue stock

Clear my choice

on 14 Which of the following represents the largest number of common shares2 ;

C a. Treasury shares

O b. Issued shares

O c. Outstanding shares
® d. Authorized shares

Clear my choice

® a. TRUE
O b. FALSE

Clear my choice



vestion ¥ When using the indirect method fo calculate and report the net cash prowded : ing
Not yet activities, net income is adjusted for all but which of the following? y

O a. Gains and losses from non-operating items.

@® b. Changes in noncurrent assets and noncurrent liabilities.

O c. Changes in current liabilities related to operating activities.
O d. Depreciation and amortization expense.
Clear my choice

The appropriate section in the statement of cash flows for reporting the cash pe
salaries is:

® a. Operating activities.
- O b. Financing activities.
O c. Investing activities.

| "O d. Schedule of noncash investing or financing activity.

Clear my cholce

hy book value of an asset when using double-dec
book value from using straight-line depreciation, oxcept
gn when it b the same, '




Answer: /O

Fly Corporation issued a $ 5,000,000, 8%, 6 years convertible bonds on 1/1/2020. The bonds were issued at 103 andpay
interest semiannua n Jul ind lanuary of ever oor

Required ) ite the total financing (borrowing) cost for the company

NOT¢ 1 Y 1 ] Der " Wit N ¥ N r mr ,\_‘;}‘)
AnNsw

-

| -



o customers. When the company mails the first quarterly journal to customers, it should record:

out of O a. Debit Prepaid Subscriptions $33,750; credit Unearned Revenue $33,750.
O b. Debit Uneamed Revenue $45,000; credit Cash $45,000.
= O c. Debit Cash $11,250, credit Sales $11.250. 2
® d. Debit Uneamed Revenue $11,250, credit Sales $11,250.
Clear my choice
jon 22

Mariinez Corporation issues 2,000, 10-year, 8%, $1,000 bonds dated January 1, 2017, at 98. The jo

et issuance will show a
ered
sdoutol | O a. debit to Cash of $2,000,000.
| O b. credit to Discount on Bonds Payable for $40,000.
m .
stion i O c. credit to Bonds Payable for $2.040,000.
@ d. debittoCashfor $1.960.000.
;3'. Clear my choice
W~
msﬂonéa‘ ,i
it yat S S
wwered |
arked o\ﬂq(’; :"
00
fag

astion






Uesiion

When the corporation i issuing the bonds has the right to repur

ot yet fm a SDeCtﬁc price, the bonds are
answered s
r]vx(c;ked w!o‘ﬁ convertible bonds
\; 3 unsecured bonds
a og,.‘ c debenture bonds A
= callable bonds -2
Clear my choice "
ek b If bonds are issued at a discount, it means that the

O a. financial strength of the issuer is suspect.
1 ® b. market interest rate is higher than the contractual interest rate.
' O c. market interest rate is lower than the contractual interest rate.
O d. bondholder will receive effectively less interest than the contractual inte
Clear my choice

A '_ rchase of land in exchange for a long-term note payable must be dis



Dec. 31, 2020

Dec. 31, 2021

152,400

134,500

33,200

35,000

200,600

175,500

20,000

$ 570,000

300,000

§ 270,000

13,000

166,500

e of plont assets

2,000

for the year $ 88,500




stion ] 7

Not Y e]
inswered

* O a. book value.
O b. canying value.

Marked out of

1.00
¥ flag ® c. fairvalue.
question O d. original cost.
& Clear my choice
| Question 18 Which of the following would not be recorded in the entry for the form
i Not yet It
[wsrad ® a. Accumulated depreciation
{ St outof O b. Allowance for doubtful accounts

O c. Accounts receivable
O d. Allof these would be recorded.

o Clear my choice pAIS

A corporation has 10,000 shares of $100 par value stock outstonding.' It
stock split, the number of shares outstanding after the split will be 50,0

® a. TRUE




i Y

an%icssets are used in operations and have useful lives that exfénd

over




Stmidﬁ-ine method is used, compute the revised depreciation expense for the ye
ar as a number only, with No dollar signs or commas)

ion has the following shares issued and outstanding in December 2020:
: ck, § 2 par, 100,000 shares issued and outstanding
t /e Preferred stock, $ 100 par, 6%, 10,000 shares issued and outstanding.
‘issued and outstanding since 1/1/2018.

8, WOW declared and paid $ 30,000 as cash dividends. In the year 2019, no dividends were declared. In D
lared $ 220,000 as cash dividends.

ch dividends will common shareholders get?

answer as a number only, with No dollar signs or commas)



A prior period adjustment should be reported as an adjustment to the retained earnings bolcnce ot the
pPeginning of the period in which the adjustment was made.

@® a. TRUE
O b. FALSE




ion of preferred s’fock ;fb‘fcic

mmon stock appears in
| M

|




:‘V’Vhich’ of the following do not apply to unearned revenues2

Amounts received in advance from customers for future services.
Estimated liabilities.




Ierf $1,000 trading at 102 sells

FALSE

Cleor my choice
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stion 24
swared
\arked out of

00

" Flag
question

Question 25

Notyet
answered

Marked out of
1.00

V" Flag
queastion

Clear my choice

A company sold $12,000 worth of bicycles with an extended warranty. The company’s €x
warranty expense averages 2% of sales. The cunrent period's entry to record the warranty ex

O a. Debit Warranty Expense $240; credit Cash $240.

O b. Debit Prepaid Warranties $240; credit Warranty Expense $240.

O c. Debit Estimated Warranty Liability $240; credit Cash $240.

® d. Debit Warranty Expense $240; credit Estimated Warranty Liability $240.

Clear my choice

O a. Radley, $24,000; Smithers, $24,000
O b. Radley, $21,000; Smithers, $27,000
O ¢. Radley, $32,000; Smithers, $16,000
® d. Radley, $20,000; Smithers, $28,000

Clear my choice

” B




i outof

(o]2]

1, fissuing common stocks at par for
cash

Debit: Discount on bonds payable
Credit: Bonds payable

2 Declaring a large common stock

dividend

Debit: Common stock dividends distributable’

Credit: Common stocks

3 Paying off interest accrued from last
year

Debit: depletion expense
Credit: Accumulated deplefion

Match the following statements, by choosing the correct letter. Each'answer can onlyne_us_gjgng_m:ng
A Debit: Cosh

4 Refirement of bonds at Maturity

Debit: Cash
Credit: Common stocks

Credit: Paid in capital in excess of par

5 Paying off an installment on a long
note payable

Debit: Cash

Credit: common stocks

6 Recording deletion expense

No journal entry

/ lssuing bonds for cash, at 98 Debit: stock dividends
Credit: Common stock dividends
distributable. 54
8 |Performing a 1: 3 stock split Debit: Notes payable o

Debit: Interest expense W%
Credit: Cash R

e A

Debit: Interest payable “:‘
Credit: Cash 3

Debit: Bonds pay o

i
P

Credit: Cash

| Time el



OCK UCOI. DONGAS PAYUADIC

redit: Cash

.lssuing common stocks at par for cash

Declaring a large common stock dividends

Paying off interest accrued from last year

Retirement of bonds at Maturity

Paying off an installment on a long term note payable

- Recording deletion expense

: Issuing bonds for cash, af 98




